Chamber Destination Irvine Economic Development	S	reater irvine
	M	chamber Destination Irvine Economic Development
	$X \cup X$	

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine	Destination Country	Destination Port
CA	China	Dalian
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-04-06	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB NAM6805270
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110

China

Remarks Total: 480 bales Total: 195.463 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	19.45 mt	United States
Marks: CMAU8509766 48bales		
Alfalfa Hay	19.341 mt	United States
Marks: TXGU6689960 48bales		
Alfalfa Hay	19.831 mt	United States
Marks: TCNU6637861 48bales		
Alfalfa Hay	19.205 mt	United States
Marks: CMAU9371820 49bales		
Alfalfa Hay	19.26 mt	United States
Marks: CMAU3522390 48bales		
Alfalfa Hay	19.94 mt	United States
Marks: CMAU3527957 48bales		
Alfalfa Hay	19.523 mt	United States
Marks: GESU6345215 47bales		

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

TO VALIDATE, GO TO Certificate Number: GI-COO-45922-662f99fd5aeb4

VERIFY.FTGS.US Date: April 29, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Dalian CA USA **Export Date Exporting Carrier** 2024-04-06 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, NAM6805270 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 480 bales Total: 195.463 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	19.55 mt	United States
Marks: TCNU6954573 47bales		
Alfalfa Hay	19.486 mt	United States
Marks: BMOU5550932 48bales		
Alfalfa Hay	19.877 mt	United States
Marks: TCNU5660173 49bales		
end of products	=====	=======
	XXXXX XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	
		DAXIVIA TO THE REPORT OF THE PARTY OF THE PA
	MANIMATHIT	

Name of Authorized Trade Association



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

2024 29, -c00-45922-662f99fd5aeb4/April

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE

Invoice No.

SD-202403043

Date:

4/5/24

Shipper/Exporter:

Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

one,

Huimin District, Hohhot,

Inner Mongolia

Vessel: PRESIDENT TRUMAN

Voyage No.: 0DBI4W1MA

Shipping Line: CMA-CGM

LOS ANGELES, CA Port of Loading:

4/5/24 ETD:

Price Terms: CIF

_	_		
Hohhot	Comprehe	nsive Bonded	Ζ

Contract No.: SDHT-HGLC2024-2

Booking No.: NAM6805270

Country of Origin: USA

DALIAN, China Discharge:

ETA: 5/1/24

Container No. Seal # Product Bales Net Weight (MT) Unit Price USD/MT						Amount (USD)	
BMOU5550932	A1518912	Alfalfa Supremi	48	19.486	\$427.00	\$8,320.52	
CMAU3522390	A1515341	Alfalfa Supremi	48	19.260	\$427.00	\$8,224.02	
CMAU3527957	A1515342	Alfalfa Supremi	48	19.940	\$427.00	\$8,514.38	
CMAU8509766	A1515345	Alfalfa Supremi	48	19.450	\$427.00	\$8,305.15	
CMAU9371820	A1515343	Alfalfa Supremi	49	19.205	\$427.00	\$8,200.53	
GESU6345215 A1518920 Alfalfa Supremi 47 19.523 \$427.00					\$8,336.32		
TCNU5660173 A1518922 Alfalfa Supremi 49 19.877 \$427.00					\$8,487.48		
TCNU6637861	A1515344	Alfalfa Supremi	48	19.831	\$427.00	\$8,467.84	
TCNU6954573	A1518916	Alfalfa Supremi	47	19.550	\$427.00	\$8,347.85	
TXGU6689960	A1515346	Alfalfa Supremi	48	19.341	\$427.00	\$8,258.61	
Total Value: 480 195.463					\$83,462.70		
Deposit (\$150/MT):					\$29,319.45		
Downpay Payment:				\$54,143.25			
Remaining Balan	Remaining Balance:				\$.00		

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG





4/26/24, 12:20 PM

Invoice Metric

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE

CORPORATE SEAL 2019
DELAWARE DELAWARE